
NCAA lecture 3 : quiz

1)
Which of the following

Markov
chains admits :

- a unique stationary distribution ?

- a finique ) limiting distribution ?

a)

0*203
b) C①I②I③

c) -8%0 d)

e) ① f 'r① ,#



2) Which of the fdlanhg statements is come

.

at ?

a) If X is an irreducible and null - recurrent chain

then a e) itsstate space S is infinite
a 2) it does

not
admit a stationary distribution

b) If X is finite and irreducible
,
then it admits a

unique hunting and stationary distribution
.

c) If X does not admit a unique stationary distribution
,

then someStates are not positive - recurrent .

d) If X admits a stationary distribution ( not necessarily

Unique ) , then some states arepositive - recurrent
.


